Addition with reqrouping 13 tens need to
be regrouped
REGROUPING TENS as 1 hundred

and 3'tens.
Add 60 and 70. -
STEP I Add the ones. STEP 2 Add the tens.
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ENRICHMENT ACTIVITY .DO t = ‘0 - ‘(
Fill in the blanks. 1 ,
|

9+1= 10 9+4= 13 | 9+7= 16
E 90+10= 100 éo+‘40=tm [ 90+70=160 |
£ %+20= 110 0 iu 9 +80= 11D

9+3= 12 [ 94+6= !5 9+9= 18

90 + 30 = 137 90 +60=150 é _20+_9_o=1&n§

Find 55 + 60.
STEP | Add the ones. STEP 2 Add the tens.

H T O Eggéﬁ H T O i »
5 5 d360des 5 %Ej | g2°

s ]
+ o [

sl * o o [
S : T 1
e s o i AN AN
5 ones + 0 ones = 5 ones Lo oa

5 tens + 6 tens =_11 tens
= 1 hundred + 1 ten
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ENRICHMENT ACTIVITY

Add.
50+53= 105
35+80= 115
80+ 97 =\ 1%
.4§+70;|J_£§
50+96= 146 |
90+ 62= 152

CHECKPOINT!

64+60=124 |
70 + 80 =150 |

EXERCISE 6.1

~ HOTS question ez
Add the flowers.

Add.
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9 0 — 8 1 - 5 43
5 & = 3 3k 1 o 9
7 8 6 5 9 4
6 0 + 7 4 + 9 4
3 1 3 6 q ' 2 &
8 48 9 6 7 56
3 5 + G 2 48 + 6 9
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